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Solve by factorization: 5x° =30x 5x2=30x &= fUFaux 2 1.20)

1.1 gl Guied)

(X+TN(x=-3)=-7 :éﬂﬁﬁt"jd/:.,ljl‘-ﬂ@;J:JJ;&J:iEﬂﬁ(‘JEdJ?’;&f:P 1 QI
Write the quadratic equation in. the standard form and point out pure quadratic equation:
(x+7)(x-3)=-7

Solve by factorization: 3y* = y(y—>5) 3y’ = y(y—5) = g e (i) Q2
Solve by factorization: x* —11x =152 K;ffﬁ‘ =152 :ZSYF2n  (iv)
Solve by completing square: 7x* +2x—1=0 7£5$2; “1=0 :ZESE S 2a () Q3
Solve by completing square: x*—2x—195=0 X2-2x-195=0 ESE, K 2n (Vi)
1.2 50t
Solve the equation using quadratic formula: 2-x"=7x & J LG (1) QI
1.3 st Gusin)

Solve the equation: 4.2 —9.2* +1=0 4277 -92" +1=0 iéuyf-'b'!‘-«*‘ Q12
Solve the equation: (x+1)(x+3)(x—5)(x—7)=192 (x+DE+3)E-5E-7)=192 :Héf/:.,up Q15
1 o § gl
Solve: x*+2x-2=0 X’ +2x-2=0 &S (@G Q2

Solve by factorization: 5x° =15x Sx*=15x  :ZESUF 2 (i)
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Solve: V/3x+18=x Vx+18=x & F (vi)
Define quadratic equation. &9 PlebbaGuss  (vid)
Define reciprocal equation: Ay Plebleg®  (viii)
Define exponential equation. &y A& =hldUed  (iX)
Define radical‘;_éa:ﬁatiﬂn. Ay el (X)
Deﬁné’:'&]uadratic equation. Give an example. cpla ;JLf'f.d{l_gf i /7 (S AET I
What is meant by standard form of quadratic equation? T i /g;,ﬁd;‘grj ol (S
Define reciprocal equation and give an example. e Lisigsy P Sl
Define exponential equation. Give an example. _EJeLilgE s S, ciseilied
Define radical equation. Give an example. e gE PSS

Find the discriminant of the equation: 2% —=Tx+1=0 S p‘-'f,;f J el (a) 1
Find the discriminant of the equation: x*—3x+3=0 S5 r-,lw‘,;f O/t (b)
2.1 Gueinty

Find the discriminant of the quadratic equation: X" +3x—-1=0 :é(‘}”u,&ﬂ/ el (1)) QI
Find the discriminant of the quadratic equation: 6x> —8x+3=0 = 3 K tsla sy (i)
é’g r}l"" :Ub'-:'( J/ £ lsbr S

Find the discriminant of the quadratic equation: (iii)
9x* -30x+25=0

Find the discriminant of the quadratic equation: 4x>—Tx-2=0 ol 36 etslaGos (V)

2.2 yubukaud Guotin)
Find the cube roots of 64,-27,8,—1 -ér’}"' Ju:agé 64,-27.8,—-1 QI
Evaluate: (1-o-o?) Iﬁig'liiu o-o’) Zered (1) Q2
Evaluate: (1-3m—-30°) ﬁﬁ(lj— 3o-3w°) gEered (i)
Evaluate: (9 + 40+ 40°)’ O+4o+40°) ZEekred (i)
Prove that: x’+y’ =(x+y)(x+oy)(x+0’y) X +y = (x+y)(x+oy)(x+0’y) JSEer Q3

2.3 yutuiim Guiet)

%X*—5%+3=0 :érrb".._.s/""fbﬂl;éﬁé;ﬁfa!jpﬁﬂn (1) Ql
Without solving, find the sum and the product of the roots of the quadratic equation:
x*—5x+3=0
3x*+7x—11=0 :é{':h'.._.f/z’d’ibi}liyfﬂédpl(aupﬁﬂu (i)
Without solving, find the sum and the product of the roots of the quadratic equation:
3 +7x—11=0
p}{z —qx+r=0 :Hé(:""fﬁd"’wu:f,ﬁ;;ﬁJ’f;:.—uL»&;m (iii)
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Without solving, find the sum and the product of the roots of the quadratic equation:
px’—qx+1r=0

7x° =5Smx+9n =0 :éf‘:‘”?ﬁfbijl;:‘f‘ﬂéd’f;uu&m; (vi)
Without solving, find the sum and the product of the roots of the quadratic equation:
7x* =5mx+9n=0
r:{.@;;_.;‘*%" %+% :é.LE;.fI;L«»:,ujui.ﬁéd:ﬁuﬁujuﬁ 2x*-3x-5=0 <~ a,P ji (iv) 2
K
If o,p are the roots of the equation 2x” —3x—5=0, form quadratic equation having roots bt %
o +B5é+ é ::';_-L-f.;.fuw;.ﬂ;.am,;?wfué 2x*=3x—-5=0 =lsle o, S )
If o,pare the roots of the equation 2x°-3x-5=0, form quadratic equation having roots
o+p3, L + L]
oL
2.5 yutubnd Guasied
Write quadratic equation having roots: 1,5 -url,5 uj L J e e Gy (2) QI
Write quadratic equation having roots: 4,9 -Ux4.9 JLLJ? e lbimtslbeFuns (D)
Write quadratic equation having roots: —2,3 -J¥=23 f L J et S (€)
Write quadratic equation having roots: 0,—3 -Ux0,-3 uj;,{.u'? e bimslr B (d)
Write quadratic equation having roots: 2,—6 it =Bl iR el bleGas (€)
Write quadratic equation having roots: —1,—7 Un—1,-7 uj.uif e bimslaGas (1)
Write quadratic equation having roots: 1+1i,1—i “Url+i,1-1i J g e e sla G ()
Write quadratic equation having roots: .U 3+ J2,3-42 uj 0 L U7 b eble G (h)
34J2. 33
2.6 yutudond  Guisild
(P +Tx 1)+ (x+1) iaegh o Gme S Foi w2 i 7 D Q1
Use synthetic division to find the quotient and the remainder, when: (x +7x=1)+(x+1)
(4x° —5x +15)+(x +3) —Jiér’!b”JLﬂW’LyW—-FL/ Jeif e o7 (i)
Use synthetic division to find the quotient and the remainder, v.yﬁ%n (4x° = 5x+15) +(x +3)
(X} + %2 =3x+2) = (x = 2) i Qs d P ozl Sl 5 ()
Use synthetic division to find the quotient and the remainder, when: (x° +x*—3x+2)+(x—2)
g K2x0 -3+ 9 (¢ 3 i e el h U L s D Q2
Find the value of h using synthetic division, if 3 is the zero of the polynomial 2x° —3hx*+9
s KX’ —2hx” +11 Jz;f/'l‘ mﬁé{‘:@:ﬂ:’?{h LJL":’"{Z.EUFJ/; (ii)
Find the value of h using synthetic division, if 1 is the zero of the polynomial x* —2hx*+11
s K2 +5hx =23 $ 2 /i e d S h e Jonl s ()
Find the value of h using synthetic division, if '—1'is the zero of the polynomial 2x’ + 5hx — 23
2.7 st Guotiny
Solve the simultaneous equations: X +2y'=22;5x*+y* =29 S S m QT
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Solve the simultaneous equations: 4x*—5y* =6:3x" +y> =14 S FIudn Q8
Solve the simultaneous equations: 7x> =3y’ =4 2x> + 5y’ =7 SE S Ui s Q9
2.8 yuiutiul Gusind

ke 182 - A eiei S s Ql

The product of two positive consecutive numbers is 182. Find the numbers.

3 ?J‘J‘U _:érjb",!ﬁ_ﬂ;;. % J/;{UF}Q‘(.K_U#IJHJ;W—E’I QS
O

The difference of a number and its reciprocal isg . Find the number.

L ﬁ i *

2\ Gueind \§ yuiuind

Evaluate: o' +®™* +1 -ﬂé(:b’:ffgfmﬂ +ot+1  (vi) Q2
Evaluate: (1-o+®°)° _ér‘}h"._‘;ygg_;(l—{ﬂ—l—mz)ﬁ (vii)

Jovuilel i
Define symmetric functions. S PSSO
Define synthetic division. _gﬁ:_;g/"'wfr‘;g{}
What are simultaneous equations? sl e UIlslas A

3.1 gt Guesind

Ul 3:4m2p+5:3p+a i g fp Q4
Find the value of p, if the ratios 2p+5:3p+4and 3:4 are equal.

e B X Turg 25 m3x 16+ ax S QS

If the ratios 3x+1:6+4x and 2:5are equal. Find the value of x.

[fa:b=7:6, find the value of 3a+5b:7b~5a. e F(3a45b:7b—5a7a:b=7:6.1 Q9
3.3 yuiutin  Gutedy
Find a third proportional to: 6,12 6,12 ;“ér#a___.ft:n/f i) Q1
Find a third proportional to: a’,3a’ | :gaq’ 32’ S e B A (i)
Find a fourth proportional to: 5,8,15 K{:ff‘f 5815 &% BBy () Q2
Find a fourth proportional to: 4x*,2x’,18x’ 1{;.14};4,2;{3,1 8x* el BBy (i)
Find a mean proportional between 20,45 20,45 & . o ides (1) Q3
Find a mean proportional between 20x’y’,5x"y 20x’y",5x "y ;ér»,b*_._...-tﬂu‘j Ly (i)
Find a mean proportional between 15p*qr’,135q°t’ 15piqr’,135q°r ;Hér-,bf?,fﬁiluj;,,, (iii)

FEeedlp et spas D Q4

Find the values of the letter involved in the given continued proportion: 5,p,45

e i x e b L8 x, 18 (D)

Find the values of the letter involved in the given continued proportion: 8,x,18

3.4 yutuand  Guutiny
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[f a:b=c:dthen prove that: it M i W+l _ 98430 SEetdab=c:d S (i) Ql
4da—5b 4c¢-5d 4a—5b 4c-—5d
If a:b=c:dthen prove that: 2a+9b _ 2¢+9d 2a+9b _2¢+9d Flssin bsed ) (i)
2a—9b 2¢-9d 2a—9b 2¢-9d
HX= S5 flér:l"‘.:«f(fx 2y BT 27 Lﬁ,?_/dht?!:ﬁbjdfgjﬁ,ﬂ* 1 Q2
& Y+Z X—2y x-—-2z
Using theq@rﬁJDf componendo-dividendo find the value of X+2y P i 27 RS 4yz
g X—2y X-—-27 y+Z
B -ym= ~onp fﬂéfﬂ’”:,mejL L + Hi-HIP Lﬁifdbﬁiaﬁﬂ“:%@.ﬁ* (i)
n-+p m—-5n m->5p
Using theorem of componendo-dividendo find the value of i1 Lk P cif m= 10np
m-5n m-—5p n+p
=i Tl 3 R08 B0, o Sheedde® e WD
a—b X+6a x-6b
Using theorem of componendo-dividendo find the value of X~ - X*0b ¢ 1230
X+6a Xx—-6b a—b
= [ SR X432, Ly phne iU, e @)
V—Z x+3y x-3z
Using theorem of componendo-dividendo find the value of E-0F B8 o Jif x= oYz
X+3y ( X3z V—Z
5= Y [iofr 3SR Sy s s g, e V)
pP—q s+3p 's=3q
Using theorem of componendo-dividendo find the valué of = 2B St Af s = pd
s+3p s-—3q pP—q
- (X —-4)* . vi
eSS (X 2)2 X 4)2 . i nd S s ST e )
(x=2)2+(x—4) 13
. 2 _ AZZ
Using theorem of componendo-dividendo solve: (X z)j L% 4)2 _12
(E-2Y 44y 13
VX7 +2+4/x7 =2 o (vii)
VESFIEIETNE T2 0wl SUee P
Nx2+2-yx*-2
- i VX +2+4x7 =2
Using theorem of componendo-dividendo solve: s ToTh =2
VX +2—-4x> -2 &
2 41 Qn? — 2.2 - i (Viii)
AR N P 1D g
»\/}{2 +8p~ + \/xz —plt%@
. o 2 +8 2 Z
Using theorem of componendo-dividendo solve: \/xj D ‘/K p _1
Jx' +8p° + \/xz -p° 3
st Sf ) Ll S ) rad S (%)
" (x+5) +(x-3) 14 *
3 3
Using theorem of componendo-dividendo solve: (K+S)q (= 3}? _13
(x+3)'+(x=3)" 14
3.6 yututiud Guasiey
4a—9b 4c¢c-9d .
b=c: = S (ab,e,d # 0 a:b=c:d /I i 1
If (a,b,c,d=0)a:b=c:d, then show that ~ —=-— = /& ( ) H Q
2 2
If (a,b,c,d#0)a:b=c:d, then show that %: \ji,} +;2 fé:at‘;(a,b,c,di O)a:b=c:djl (iii)
T+
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T __ i Q2
5=\ja,, EE TR e N E e LET A ==
b b"+d” +f~ b d f
a c e a’+c’+¢’
If (a,b,c.d,e,f #0)—=— —,thenshﬂwtha‘[ 5
b d f \J b +d +t
= —2/3 (ii)
WIETH |2 Sfeti@bedef20)-=—=—/
o bd+df +ib | bdtf' b d f
If (a, b,g,,ﬂ et ;:0)5—5—5 then show that 2 ¢+ €2 [ﬂ“eﬂ
b d f bd+df +fb | bdf!|
_ 2 L2 B2 , ‘ i
e o az - cj + E,, fé&f‘!(a,b,c,d}e,t iO)E e (D
bd df tb b" d° f° b d f
X 2 2 2
]f(:a«l:ht:da’ritf})E B ™ thensh()wthat e Ea:ﬂ,,+E;,_+ﬁf2
b d f° bd dft tb b d° f
H@ bl
Define ratio and give an example. o ®oikng, e Lmsty Pl (1) Q2
Define proportion. kf’ % Sy Al (i)
Define direct variation. | Ey e (i)
Define inverse variation. 2\ f— S lus S (iv)
LULLLL NOTESPK.COM i
State theorem of componendo-dividendo. S el LT e (V)
Find x, if 6:x::3:5 -Er#x76:x:3:501 (Vi)
-uXx=3 _,-?épl”:.-gchy=4__.-?x =27 ;slﬂuf’;a‘fuﬁ }(’EJ.E'}{]I (Vii)
If x and y*varies directly, and x =27 when y=4. Find the value of y when x =3
Find the fourth proportional to 8, 7, 6. _Hépl’”.:.wt?ﬁf__s“é, 7.8 (ix)
Find a mean proportional to 16 and 49. e 00649 16 (X)
Find a third proportional to 28 and 4. _,ér':’-‘” 26284 (xi)
If woc L?and w =2when v=23, then find w. .—é")l"ﬂwpﬁv=3a__éw=2;ﬁw¢£ ljfl (Xiv)
vV V2
Detine joint variation. N Tl e PSP
Resolve into partial fractions: = s s J..J'; JaUs A8 Q1
(x+1)(x—3) (x+D)(x-3) 7
. ; ; —11 x—11 7
Resolve into partial fractions: 2 S Ss7
. (x —4)(x +3) (x—4)(x+3) K i e
Resolve into partial fractions: 3}5 _1 3};; _1 SN s Sz Q3
R =
Resolve into partial fractions: — X—> - X :éﬁutu;/dﬂ Q4
X“+2x-3 X" +2x-3
4.2 stk Guatiey

Free PDF Test Series, MCQs, Papers & Notes Are Avadilable Atl: www.nofespk.com




10th Mathematics (Science Group) - NOTESPK Guess Papers 2023 — Courtesy: Sir Nauman Sadaf

. : : x*—3x+1 x> —3x +1 - p
Resolve into partial fractions: - éJ::'f iy (S92 1
: (x—1(x-2) -y TEETFQ
2 2 -
Resolve into partial fractions: & +7ﬂx+” = +7;x+11 éd:.y S S92 Q2
(x+2)(x+3) (x+2)(x+3)
Resolve into partial fractions: ° > éfﬂ S’ $s7 Q3
S (x —1)(x +2)° (x—1)(x+2)> 7
I . : 1 1 4
Resolve inte partial fractions: } 1 Z2 K e S
p Dt D) G DxeD) F LS Q6
4.3 yutubnd  Guatil)
. : : 3x—11 3x—11 e
Resolve into partial fractions: - Z2 T s SSsz
ve into parti ion T i) F Ktz Ol
: . : 3x+7 3Xx+7 ’
Resolve into partial fractions: D) T+ Dx3) :édr."(utu;/d;;z Q2
Resolve into partial fractions: 31 31 éu‘:”: S8z QT
X +1 X" +1
L o A L * e
4 Guaind \§ yuiluind)
Define a rational fraction. SEw S ) Q2
What 1s a proper fraction? ?‘5_:5;:_5{ s (i)
What is an improper fraction? Cedulf S F o (i)
What are partial fractions? ?L,;rJﬁ__uﬁ/d;;z (iv)
: . -2 i % X—2
How can we make partial fractions of . ? S UL 897
wedn W P (X + 2)(x+3) 25 el U J(x+2')(x+3) v)
Resolve into partial fractions: jl 1 21 : éug S Sz (vi)
R =t o =
. . . 3 3
Find partial fract f A AT i
ind partial fractions o D=1 P LY J(x+1)(x—1) (vii)
Resolve into partial fractions: A . -2k 4 Sz
p (x_3) c_3 & K S (viii)
How we can make the partial fractions of . ? E‘{_,,rg(}c bdbt,)jb(( AT (ix)
(x+a)x—a) X (x+a)(x—a)
Define a fraction. Ew PSS

5.1 yututinl Gty

_E P XUY InX={1,4,7,9} mY={2,459 .1 O QI
If X={1,4,7,9} and Y ={2,4,5,9}, then find: XUY

L XAY I X={1,4,7,9} 5 Y ={2,4,59} ()
If X={1,4,7,9} and Y ={2,4,5,9}, then find: XY

LS X-YIY={4,8,12,.,24) 5X={2,4,6,.,20.1 (B Q3
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If X={2,4,6,..,20} and Y ={4,8,12,...,24} , then find: X-Y

LMY -XTY={4,8,12,.,24} wX={2,46,.,20) .1 ()
If X={2,4,6,..,20} and Y ={4,8,12,...,24} , then find: Y-X
[f A=Nand B=W, then find the value of A—-B. _;ér}“ﬁfJA—B?B=W SAA=NJ1 (@{) Q6
If A=Nand B="W , then find the value of B—A. L F(B-ATB=W sIA=NJI (i)
_EAXU(YUZ) 72 Z={2,3,5,7,11,13,17,19,23} 5 X ={1,3,5,7,..,19} . Y ={0,2,4,6,8,..,.20} /1 () QI
If X={1357,..,19}, Y={0,2,468,..20}and Z={2,3,57,1113,17,19,23}, then find:
XU(YUZ)
S(AUB)Y =A' "B Fr-gE S 9 S A2 U={1,2,3,4,5,6,7,8,9,10) s B={2,3,57} . A={1,3,5,7,9}.)1 Q3
(ANBY =A' UB'
If U={1,2,3,4,5,6,7,89,10}, A={1,3,579}, B={2,3,5,7} then verify the De-Morgan’s Laws i.e.,
(AnBY=A'uB and (AUB) =A'"nB
X-Y=XAY SZeY={135,.17) #X={1,3,7,9,151820}-U={1,2,3,..,20.1 () Q4
If U={1,2,3,..,20}, X={1,3,7,9,15,18,20}and Y ={1,3,5,...,17} then show that: X-Y=XNY’
Y-X=YNX SEEeY={1,35,.,17} X ={1,3;7,9;15,18,20} . U={1,2,3,..,20}.1 (i)
If U={1,2,3,..,20}, X={1,3,7,9,15,18,20} and Y ={1,3,5,...;17 }then show that: Y-X=Y X
5.3 yuuidud  Guisied
_ZEesl /(AUB)UC=AUBUC) % C={1,58,10} sB={14,7,10}. A={1,3579) .7 @O Q2
If A={13,579}, B={1,4,7,10}, and C={1,5,8,10} then verify (AUB)LUC=AU(BUC).
5.4 st Guaid
If A={a,bjand B={c,d}, then find Ax Band Bx A . _ér;"’BxA;;JA}:B?B:{c,d} _;,:A:{a,b}fi Q1
Find aand b, if (a—4,b-2)=(2,1) (a-4b-2)=2,) S1ZErbra (i) Q3
Find a and b, if (2a+5,3)=(7,b—4) (2a+5,3)=(7,b-4) S 1Z & buia (i)
Findaand b, if (3—2a,b—-1)=(a—7,2b+5) (3—2a,b—1)=((gj§“ﬁ2b+5)flépl”b sla (i)
XxY ig'g,éi,(bja),(c,a)j (d,a)} Sigk sy ax Q4
Find the sets X and Y, 1f XxY ={(a,a), (b,a),(c,a),(d,a)} »
5.5 yutudud Guasind
e dEnZ Mx L Lx Mix M ={3,4} .L={a,b,c} /I Ql
If L={a,b,c}, M={3,4}, then find two binary relations of Lx Mand Mx L.
_éfﬁfﬁgigggﬁ'sjéLxL?ﬁM={d,e,f,g};;fL={a,b,,c}ﬂ 1 Q3
If L={a,b,c} and M={d,e,f,g}, then find two binary relations inLx L.
Fsl bt gMaL L LR, ={(x,y)|ly<x}IM={y|ye PAy<10}.L={x|xe Nax<5}.; @ Q3

_géjjjl
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I[f L={x|xe NAx<5}, M={y|ye PAy<10}, then make the relations from L to M:
R, ={(x,y)|y <x} Also write the domain and range of the relation.
st M L & LR, ={(x,y)|y=x}/M={y|ye PAy<10}L={x|xe NAx <5} S (i)
2

If L={x|xe_b§ix£5}# M={y|ye PAy<10}, then make the relations from L to M:

R, ={ (x, yﬂy = x| Also write the domain and range of the relation.

J@;_izh_ﬂu‘;MLLHALRJ=1(x,y)|x+y=6}?M={y|yEPny{lﬂ}cL={x|xENﬂxiﬁ}ﬁ (iii)
ﬁfl@;;:lgt;j

If L={x|xe NAx<5}, M={y|ye PAy<10}, then make the relations from L to M:

R, ={ (X,y)|x+y= 6} Also write the domain and range of the relation.

SwrztiiyMe L L LR, ={(x,y)|y-x=2} IM={y|ye PAy<10}.L={x|xe Nax<5}./1 (V)
-*’&Ué‘mlﬁﬂ

If L={x|xe Nax<5}, M={y|ye PAy<10}, then make the relations from L to M:

R, ={(x, V)| y—x= 2} Also write the domain and range of the relation.

5 Gt i i

Write all the subsets of the set {a,b} P d Ail{abler (i) Q2
Define intersection of two sets. EwASgE Lok (V)
Define a function. Sy S (vi)
Define a set. Ey s
What 1s meant by union of sets? Sl PR )
What is meant by difference of sets? Sl e 3P Ly
Define compliment of a set. S seazikd
What is meant by ordered pairs? s e lin s
Define binary relation. | :_gj T U = 08
Define a function. ﬁ’{‘“’f -é Py AN
What 1s meant by domain and range of a function? Sl e Gt S S
Define into function. oy S FEiy
What 1s meant by constant function? E IS LETJ:;’
Define identity function. _E S v

_.aéj&}&jbfflfjﬂérﬁwh’ﬂéwajﬁijfuﬂ_usf;)_:ngﬁv’ﬂjéjﬁ}fu:U'EEJ‘L.U})J-_'JJUJ&L’ 1
The marks of seven students in Mathematics as follows. Calculate the Arithmetic Mean and interpret
the result.
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Student No.

1

2

3

4

5

6

-

Marks

45

60

74

538

65

63

49

S a2 L G bt Qo e ST E b b .3 p ot St (5) by 2

The salaries of five teachers are as follows. Find the mean salary using direct and indirect methods
and compare the results. 11500,12400,15000,14500,14800

& 82,93,86,92,79 -+ send Lusd LAt d it Lor e LS L
On 5 tenn}estg in Mathematics, a student has made marks of 82, 93, 86, 92 and 79. Find the median
for the mﬁ?ks.
e 23;272:3.29,5.1,1.9 -Hér:“’::thﬂ:-ﬁgd“5@;@:;_;,4)’1};@-Jﬁ@_‘g‘ggﬁ%g;{:{_ﬁ 2

The sugar contents for a random sample of 6 packs of juices of a certain brand are found to be 2.3,
2.7,2.5,2.9,3.1 and 1.9 milligram. Find the median.

44,5,5,6,6,6,7,7,5,7.5,8,8,8,6,5,65,7 : &+ lecsaSotrSie i/ S ez $Uizr o 1
Find the modal size of shoe for the following data: 4,4,5,5,6,6,6,7,7,5,7.5,8,8.,8,6,5,6,5,7
&34 JUfJE(ﬁJKJJ(?*)LJJ Jﬂf‘;UdJ@ﬁ(_ﬁjf);j;A-éfﬂj"’hﬁ:f&,ﬂ;—g!é L 248=i4 1

Find the geometric mean of the observations 2, 4, 8 using (1) basic formula and (i1) using logarithmic
formula

-éfﬂ”hﬂjlu@fﬁé LJ!S“JJ,.?‘JF 1

For the following data find the Harmonic mean.
X|1215]|8|4

* B

0.2 yutuinl | Guasin)
12,14,17,20,24,29.3545 g5 uradobortfioire s @ b, O Q3
Find arithmetic mean by direct method for the given set of data: 12,14,17,20,24,29,35.45
200,225,350,375,270,320,290 (:Z s adobirtisinre 3 pd A by (D)
Find arithmetic mean by direct method for the given set of data: 200,225,350,375,270,320,290
12,14,17,20,24,29,3545: 251 8 s Qi f s o sire 3y H(E31 A by, (D Q4
Compute arithmetic mean using indirect method: 12,14,17,20,24,29,35,45
200,225,350,375,270,320,290: & 9 b st oK f 3 o sir ey H(E35] A bty (D)
Compute arithmetic mean using indirect method: 200,225,350,375,270,320,290
25,4090 Us 57 23.5 5230 0,42.90Us 57 18.7 A 349:39.90 s 57 21.3 i LiLiib O 7wt QU
E e d AU b A

On a vacation trip a family bought 21.3 liters of petrol at 39.90 rupees per liter, 18.7 liters at 42.90
rupees per liter, and 23.5 liters at 40.90 rupees per liter. Find the mﬁggﬁf\ﬁﬂce paid per liter.

& /\q -
Junlbd
¥

M\
»
110,109,84,89,77,104,74,97,49,59,103,62 : & oh ool e 1
Find Range for the following weights of students: 110,109,84,89,77,104,74,97,49,59,103,62

e S A e e Dt L s A S et F L uFE ey D
H‘_:,Ju, 1 | 2 [ 3| 4| 5] 6

;Z160]70(30(90]| 80|42
The marks of six students in Mathematics are as follows. Determine Variance and Standard deviation.

StudentNo. | 1 | 2 | 3 | 4| 5| 6
Marks 60703090 80 |42
6.3 yuiuinl  Gutie)

11500,12400,15000,14500,14800-< 5 1 S5 de szt f 5 hemsDt¥ Sosly Q4
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The salaries of five teachers in Rupees are as follows: 11500, 12400, 15000, 14500, 14800. Find Range
and standard deviation.

Find the standard deviation “S” of each set of numbers: -ﬂép‘»” "S" U AIS A (W) QS
(1)12,6,7,3,15,10,18,5 (11)9,3,8,8,9,8,9,15
Calculate Vﬂfiﬂgg_ﬂ for the data: 10,8,9,7,5,12,8,6,8.2 :éfﬂ”&j STIVSON I (W)
e O A eSS S e it S Uz (32) & Q6
du | 20-22 | 23-25 | 26-28 | 29-31 | 32-34
. end| 3| 6| 12| 9| 2

The length of 32 items are given below. Find the mean length and standard deviation of the
distribution.

Length 20-22 | 23-25 | 26-28 | 29-31 | 32-34

Frequency 3 6 12 9 2
' ) § ey
Define class mark. S ol () Q2
Define a frequency distribution. Eey Al H o (IV)
What is a Histogram? el L2 56 (V)

Convert 45.36°to D°M'S" form. I&"’ﬁuﬁJS” SM.D°¥4536° 3
Convert into radian measure: 15° 15° Edwdighd s (@) 4
7.1 yututdul Gutie)

Locate the given angle: 30° S buss—xy £30° (1) QI
Locate the given angle: 22 g L& b S —xy £ 22 g (ii)
Locate the given angle: 135° _E bt —xy £135° (i)
Locate the given angle: 225° ___é A ES S —xy £225°  (iv)
Locate the given angle: —60° _{:f:;’fgﬁwgfdﬁ-’ —xy £ —60° (V)
Locate the given angle: —120° xh;\ 4 - AU —xy 1200 (Vi)
Locate the given angle: —150° | _EE b —xy —150°  (vii)
Locate the given angle: —225° _Zm b S —xy S —225°  (viii)

4530 @A p Pl el stoml s D) Q2
Express the sexagesimal measure of angle in decimal form: 45°3(
60°3030" @l et PSS L stonl s (1)
Express the sexagesimal measure of angle in decimal form: 60°30'30
125°2250" @@t S el L st s (i)

Express the sexagesimal measure of angle in decimal form: 125°22'50"

Express into D°M'S" form: 47.36° 4736° 2 4tS oM, D° (i) Q3
Express into D° M'S" form: 125.45° 125.45° 2 A M. D° (i)
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Express into D°M'S’ form: 225.75° 225.75° 2 A4S aM,D°  (iii)
Express into D°M'S" form: —22.5° 225" S M.,D°  (iv)
Express into D° M'S” form: —67.58° —67.58° 2t M. DS (V)
Express into D°M'S" form: 315.18° 315.18° 20 S M'.D° (Vi)
Express intqirﬁgns: 30° 30° 2 cgxs o (1) Q4
Expressb{igig'radians: (60)° 60y & tns (i)
Expreg‘; intn radians: 135° 135° .2 el ks (100)
Express into radians: 225° 225° 2l i (V)
Express into radians: —150° —150° .ﬁ/jwﬂi“.: (V)
Express into radians: —225° -225° 20 s (V1)
Express into radians: 300° 3000 :2Y ks (ViD)
Express into radians: 315° 315° 20 JeeS s (Viil)
Convert to degrees: %ﬂ %ﬂ SdessSs G Qs
Convert to degrees: %ﬂ % SEUrssSs o (i)
Convert to degrees: %ﬂ: 7—; S g3 (i)
Convert to degrees: 113—;[ ll:'j—g[ ERTI-IE (iv)
Convert to degrees: 3 3 EJeLsSs )
Convert to degrees: 4.5 45 SEUrnsSs (vi)
Convert to degrees: % % S tsSs (vi)
Convert to degrees: — E?‘E - % noocEdetsSs (viii)
7 .2 iyl Guatiey
Find 6, when: f=2cm,r=23.5¢cm £=2cm,r#=3.5cm :,{?éf‘}’”(} i Qi1
Find 6, when: /=4.5m,r=2.5m ¢ =i{h5_§§\;=2.5m :.J_Zééf;r-#’lf} (ii)
Find 7, when: 6 =180°,r=4.9cm B\EqSO“ ,r=4.9cm :.?;’_épb’ ¢ 31 Q2
Find 7, when: 6 =60°30",r=15mm 0=6030",r=15mm :..F?ﬂéph"f (11)
Find r, when: 7=4cm,0 = i radians /=4cm,0 = % e s :,?ér':”" r (i) Q3
Find r, when: ¢#=52cm,0 =45° ¥=52cm, 0 =45° t.?:é(#’" r (i)
—e 12 UK ) ,{e,-:_Jl:f_ N BN RV PV IT > (#’JI_J Sui Q4
In a circle of radius 12m, find the length of an arc which subtends a central angle 6 =1.5 radians.
S 210 ke o obe S A 6835 Le i QS
In a circle of radius 10m, find the distance travelled by a point moving on this circle if the point
makes 3.5 revolution.
?;.:;.t'ﬂty:—:f}ufjk}dﬁjhdk s ufr$8FE 3 Q6

What 1s the circular measure of the angle between the hands of the watch at 3 o’clock?
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What is the length of the arc APB? ?,,1-_5'( SUSAPB Y

8cm B

Q7

?Jﬁgéwd/u;_ﬁ:_dt::;ljfﬂm 4)}41,,}!;;‘_)“;:,_?_(" 12 U6 e s Q8

In a circle of radius 12cm, how long an arc subtends a central angle of 84°7

Find the %g_;éﬁ"uf the sector OPR. _Ee3KOPR wintls @ Q9
o2
Find the area of the sector OPR. ) 5(,,1.., SKOPR it (b)
" 45“
20 £
_.ér}# SKI520° Lsliss 2T S K 2150\ Q10
Find area of the sector inside a central angle of 20°1n a circle of radius 7m.
?;ﬁ:_;?x;lj{b:rgj.Z:L/ffug-ﬁ:.tjﬁmu:{rjh:a&bb(é./f(c':ub/c'-ﬁ:_dbhé/’bgf Qll
S H-Imb
Sehar 1s making a skirt. Each panel of this skirt 1s of the shape shown shaded in the diagram. How
much material (cloth) 1s required for each panel?
_,;_u,::g..;% 21231710 SRS S K e 21
Find the area of the sector with central angle of %radian in a circle of radius 10cm.
?Kj"u Aii,..a:r';{s‘_.ff,!c{kﬂ.,r‘_/ 2 'Jjjjlj'l.d/' 10 JJK&IUCL&’J Q13
The area of the sector with a central angle 6 1n a circle of radius 2m 1s 10 square meter. Find 0 in
radians. |
A )
7 4 gty Gueoind) &2
€S = %
Verify the identity: (1—sin0)(1+sin0)=cos*0 (1=8in0)(1+sin0) = cos’ 0 :é;f;t‘f.:,l v Q7
Verify the identity: (tan6 +cot0)tan0 =sec’6 (tan® +cot@)tan® =sec’H :Srotfelly Q9
: 7 i 2
Verilthe identity: sm@;l—ccsse - cos 0 SlﬂB:rmsB e cos 0 :é.::t‘*f.:—..fu 011
tan"0—1  sinO®—cosO tan"0—1  sinO-—cosO
2 . 2 "
Verity the identity: sin” 6 +c0s0 = secH st 9 +cosO=secd Setfell Q14
cos0 cos0
: . . 1+ cosH sin® l+cosB  sinb .
Verify the identity: — + = 2cosecH _ =2cosecd Ze el QI8
sin o 1+ cosO sin 0 [+ cosO )
. . . 1 1 2 1 1 2 =3
Verify the 1dentity: + = 2cosec® + =2cosec’® Ztetfell Q19
l—cos® 1+ cosO l—cos® I+cosO
: . .. l+sin® 1-sin0O 1+sin® 1-sin0 .
Verify the 1dentity: —— — ——=4tan0BsecH ——— —— =4tan0BsecH :é:-»:l:‘fc.& v Q20
l—-sin® 1+sin6 1-sin® 1+sinb
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l+cos®  sin0 \jl+cu58 _ sin0

l—cos® 1—cosO

Sl Q23

Verity the 1dentity: \]

l—cos® 1—cosO

* L o)

i e

Define degree. AP ANYE
Define radian. ARy
What 1s thijq-;?i*e'iatiﬂnship between radian and degree? Sy 7 J"” e S 3l 5
What gﬂ%{;:ﬂterminal angles? Cai e s S 2
Define quadrantal angle. _._é_.g /7 J:.r:udu
What are trigonometric ratios? Write names. _é L7 rL*gCu,'f?;_,:gg J.?"J Jgf

(ke (L eds 84
8 \Gut) \§ ol

m/B =45° s mBC = 4\/§cm s mAB = 5cm ﬁﬂéﬂlﬂb" mAC J~ AABC Q4

In a AABC , calculate mAC , when mAB = 5cm, mBC = 4+/2cm and m/B'=45°
_épl’” mZA #vc=8musb=15cma=17cm % AABC Ji Q7

Ina AABC, a=17cm,b=15cmandc=8cm. Find mzA
'érJhAIMB;ﬁUZSCmJ}rbZISGmfﬂ:I’?cmdzﬁABC;I Q8

Ina AABC, a=17cm,b=15cmandc=8cm . Find msZB
e A tB Uz b 52 e ol M15slonsl S _ Lt 8 ST 5 L L e L Q9
Whether the triangle with sides Scm, 7cm, 8cm-1s acute, obtuse or right angled.
S ki 1t GL sl b 57 e st Di5slonsl it 17 158 LU L el Q10
Whether the triangle with sides 8cm, 15¢cm, 17cm is acute, obtuse or right angled.

* -

S )

Define projection. S S
Define obtuse angle. SEy I P
Defie right angle. RV A RS
Define acute angle. d ST

1 i)

_;E_Cﬁi/cjl:&h{ldﬁﬂl_{f:_bfﬂfﬁuf-fé#t'

Prove that one and Dnly one circle can pass throu gh three non-collinear pﬂints.

2 dulutmsin)

-5;’_.?.!”5}}}.«;;}‘125,..FJJUI}L/#;“J(!?J/E?.;:)F!L;{L*/C/LL;IJI:L‘{‘J:-’:E'
Prove that a straight line, drawn from the centre of a circle to bisect a chord (which is not a diameter) 1s

perpendicular to the chord.
> Shalbmaind)

-—-*L.L:','th.-ﬁfpndf{j"‘J;;;;Jb/ﬁ-)}ii_-j'ﬁfé&fﬁ
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Prove that perpendicular from the centre of a circle on a chord bisects it.

4 Al

..ZLJ!'E,.J-"’L&JIJJL'-‘:.'_-:/]}M;UJ-‘EJ;[}';JHL:‘_-_;F}/f! fé;«-t‘
Prove that if two chords of a circle are congruent then they will be equidistant from the centre.

5 delutmind

W

Q" - -pﬁiﬁ;ﬁﬁ"‘ﬁguff.L-f-’Lﬁ”L}'.!L‘L}(fﬁﬁﬂigﬁ:fé;#

Prove tha:’t'_:twm chords of a circle which are equidistant from the centre, are congruent.

" * -

Define a circle. AR NS
What 1s meant by circumference of a circle? el bk 2l
What i1s meant by circular area? E WIS K
Define collinear points. _ﬂé i /J S LA
Define circumcircle. ey Seils 12

u’b’éé.jb 1 0/:;...‘..-@

Define a secant. ,éh@/j'JMd’G‘
Define tangent. e e UV

SIS 124
1 iy

_:f_.t‘ﬂﬂi,r;é.;lh:‘fén/ﬁ(u”;:ah'?ﬁ.,idﬂﬁf‘f,ﬂ}d?// Ulji.aa/f‘pu“’;dr_jhf J/éh:-*‘t'
Prove that the measure of a central angle of a minor arc of a circle, 1s double that of the angle subtended by
the corresponding major arc.

2 dulutsin)

S ARl e s A S L7 S EE et

Prove that any two angles in the same segment of a circle are equal. <"

" ol
& N
LY "., ]

-LﬁLr::.J_:.,-JJ'L}'/’-*{,'.L_.’:;:_*JUJ;L'E:«"LJ[@L}';;FJJ;..;IJL))/I;:J&E

Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary.

¥ L

il

Define sector. _E PGBl
Define central angle. sl p e 357
Define circumangle. Ay
Define chord of a circle. LS ke s
Define cyclic quadrilateral. Syl 7 ME
Define in-centre. st Ve S s
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13.2 yututid Gy
_,éan_,ruww a4 3 (6_M/LubuJCA s BC«AB Lol 1 S 2& bl 226 AABC Q1
Circumscribe a ‘circle about a triangle ABC with sides |AB|= =4cm . Also
measure itsgircum radius.
wd 40T s L1 S 2t s 206 ABC 2ot loni$sl Q4
Clrcumscnbe a circle about an equilateral triangle ABC with each side of length 4cm.
Define a circle. &y Pl
Define radius. AT R0
Define perimeter. AT TN
What is meant by circumference? il b
Define diameter. ARy
What is meant by an arc? Cesl e
Define triangle. A RS-
What is meant by polygon? e o Lo 2
Define regular polygon. Ao 2k,
Define vertices. __é 3 /7 St
WOROICIIE
| ookl i 3 § potels 0 Vil

-

e ) o T e B P Y] Sy - y@‘u;;!d;wﬂ”d L sz
L{u ST e wéu[_ywm;_‘idu—/ y._.aL/_f,;dJLﬂ/ L/
NOTESPK Guss Papersgs— ff LZ_L}! /l,.i——ﬂ".?dﬂn fg'_.MﬂAL.-"LLu}JJ .Ju
o :f-:f‘l.:;w/c( LA oS~ d lu“o s ju.fl_:.fuﬁ;f g g/ o~
_;__'__..f,t,_,'»‘-/;,,;[_(_}:u—j IS 6 Lyl =
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